



For some functions f $\exists x^* \text{ s.t. } \frac{\partial f(x^*)}{\partial x} = 0$

means X* is the global optimum

min
$$(\vec{Y} - L\vec{X}_o)^T (\vec{Y} - L\vec{X}_o) = f(\vec{X}_o)$$

$$\vec{X}_o = \frac{\partial}{\partial X_o} [\vec{Y}^T \vec{Y} - (L\vec{X}_o)^T \vec{Y} - \vec{Y}^T (L\vec{X}_o) + (L\vec{X}_o)^T (L\vec{X}_o)]$$

$$= \frac{\partial}{\partial X_o} [\vec{Y}^T \vec{Y} - \frac{\partial}{\partial X_o} [2\vec{Y}^T (L\vec{X}_o)] + \frac{\partial}{\partial X_o} [(L\vec{X}_o)^T (L\vec{X}_o)]$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$\Rightarrow L^T L \vec{X}_o = L^T \vec{Y}$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T L \vec{Y} + 2L^T L \vec{X}_o = O$$

$$= -2L^T \vec{$$



